
*Std V Ch-12* 

 

*Q2. Change each sentence in two ways. First use not as ... as. Then use less... than.* 

 

A puppy is more playful than an old dog. 

-An old dog is not as playful as a puppy. 

-An old dog is less playful than a puppy. 

 

A knife is more dangerous than a pair of scissors. 

-A pair of scissors is not as dangerous as a knife. 

-A pair of scissors is less dangerous than a knife. 

 

a. The first path was more difficult than the second path. 

-The second path was  not as difficult as the first path. 

-The second path was less difficult than the first path. 

b. Seema's book is more exciting than Salim's book. 

-Salim'a book is not as exciting as Seema's book. 

-Salim's book is less exciting than Seema's book. 

c. A cyclone is more dangerous than a thunderstorm. 

-A thunderstorm is not as dangerous as a cyclone. 

-A thunderstorm is less dangerous than a cyclone. 

d. Cows and sheep are more useful than cats and dogs. 

-Cats and dogs are not as useful as cows and sheep. 

-Cats and dogs are less useful than cows and sheep. 

e. Buses are more comfortable than rickshaws. 

-Rickshaws are not as comfortable as buses. 

-Rickshaws are less comfortable than buses. 

f. A leather bag is more expensive than a plastic bag. 

-A plastic bag is not as expensive as a leather bag. 



-A plastic bag is less expensive than a leather bag. 

g. Towns are noisier than villages. 

-Villages are not as noisy as towns. 

-Villages are less noisy than towns. 

h. A newspaper reporter's work is more interesting than a clerk's work. 

-A clerk's work is not as interesting as a newspaper reporter's work. 

-A clerk's work is less interesting than a newspaper reporter's work. 

i. Honesty is more important than cleverness. 

-Cleverness is not as important as honesty. 

-Cleverness is less important than honesty. 

j. The teacher said that Paul's work was more satisfactory than Peter's work. 

-The teacher said that Peter's work was not as satisfactory as Paul's work. 

-The teacher said that Peter's work was less satisfactory than Paul' work. 

 

*Q. 3Write each sentence in another way. Do not change the meaning. You are given the beginning of 

each new sentence.* 

 

a.An old dog is not as playful as a puppy.  A puppy ... 

A puppy is more playful than an old dog. 

b.A gun is more dangerous than a knife.A knife is less..  

-A knife is less dangerous than a gun. 

c.A thunderstorm is less dangerous than a cyclone. A thunderstorm is not.. 

-A thunderstorm is not as dangerous as a cyclone. 

d.A bicycle is less expensive than a car. A car is ... 

-A car is more expensive than a bicycle. 

e.Eight marks out of ten are more satisfactory than six marks out of ten.Six marks out of ten are not... 

-Six marks out of ten are not as satisfactory as eight marks out of ten. 

f.Running on the pavement is not as dangerous as running on the road. Running on the road is... 

-Running on the road is more dangerous than running on the pavement. 



g.Plastic toys are less expensive than wooden toys. Wooden toys are... 

-Wooden toys are more expensive than plastic toys. 

h.Writing compositions is less easy than reading a book. Writing composition is ... 

-Writing composition is harder than reading a book. 

i. Being a firefighter is more challenging than being a plumber. Being a plumber is less.. 

-Being a plumber is less challenging than being a firefighter. 

j.Working in a Library is not as noisy as pleasant as working in a factory. 

- Working in a factory is noisier than working in a Library. 

k.Doing homework is not as pleasant as watching television. Doing homework is ... 

- Doing homework is less pleasant than watching television. 

l.Long trousers are not as comfortable as shorts. Long trousers ... 

-Long trousers are less comfortable than shorts. 

m.A vest is not as expensive as a shirt. 

A vest... 

-A vest is less expensive than a shirt. 

 

*Q.7 Read the example. Then join the sentences in the same way.* 

 

The car was going very fast. It knocked him down. 

-The car that knocked him  down was going very fast. 

 

a.The bicycle was going very fast. It hit him. 

-The bicycle that hit him was going very fast. 

b.The shirt was very expensive. It was in the shop window. 

-The shirt that was in the shop window was very expensive. 

c.The tree was near the school. It fell down. 

-The tree that fell down was near the school. 

d.The purse had no money in it. It was stolen. 

-The purse that was stolen had no money in it. 



e.The bus was very old. It took them to school. 

-The bus that took them to school was very old. 

f.The building was very new. It was burnt down. 

-The building that was burnt down was very new. 

g.The flowers all died. They were in the glass. 

-The flowers that  were in the glass all died. 

h.The dog barked loudly. It was inside the house. 

-The dog that was inside the house barked loudly. 

i.The ladder was not very strong. They climbed it. 

-The ladder that they climbed was not very strong. 

*Q.8 Join these sentences in two ways. The first using that and the second without that.* 

 

The dress was torn.she was wearing it. 

-The dress that she was wearing was torn. 

-The dress she was wearing was torn. 

 

a.The puppy was one month old. Mohan was carrying it. 

-The puppy that Mohan was carrying was one month old. 

-The puppy Mohan was carrying was one month old. 

b.The shorts were torn. Prem was wearing them. 

-The shorts that Prem was wearing were torn. 

-The shorts Prem was wearing was torn. 

c.The vest was dirty. The workman was wearing it. 

-The vest that the workman was wearing was dirty. 

-The vest the workman was wearing was dirty. 

d.The tomatoes were not very ripe. She bought them. 

-The tomoatoes that she bought them were not very ripe. 

-The tomatoes she bought were not very ripe. 

e.The pen was very cheap. David bought it. 



-The pen that David bought was very cheap. 

-The pen David bought was very cheap. 

f.The book was about climbing mountains. He was reading it. 

- The book that he was reading was about  climbing mountains. 

-The book he was reading was about climbing mountains. 

g.The house was Very small. They lived in it. 

-The house that they lived was very small. 

-The house they lived was very small. 

h.The knife was very sharp. He was using it. 

-The knife that he was using was very sharp. 

-The knife he was using was very sharp. 

i. The purse had no money in it. The thief stole it. 

- The purse that the thief stole had no money in it. 

-The purse the thief stole had no money in it. 


